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Onandr: “You have a real zoo!”
“ yp0K pammatuka: The Genitive Plural of nouns
- Forms

You have a real zoo!

IIéra |1 |Bort Moii ;oM. DTO rocTHAA.

This is my house. This is the living room.

Hpa |2 |Boxke moii! VY 1ebs 6uens MHOTO hoTorpaduii! | My goodness. You have very many photographs! How
Ckoéabko y Te0s poTorpaduii?

many photographs do you have?

IIéra |4 |He smaro. A 310 Mol KAOHHET.

I don’t know. And this is my office.

Hpa |5 |boxe moit! Y 1ebs 6uenb MHOTO KHUT! THI,
6 | HaBépHO, OOMBIIOH JK0OATENB KHUT. CKONBKO | probably a great lover of books. How many books do
7 |y Te0s KHUT?

My goodness. You have very many books! You're

you have?

Iléra |8 |Hesnao. Mos sxeHa ux untaer. BoT KyXHs.

I don’t know. My wife reads them. Here’s the kitchen.

Hpa |9 |DBoxe moit! V 1e0s 6uenp MHOTO HOXKEH! ThI,
10 | HaBEpHO, OOBIION JTFOOUTENTh HOXKEH!
11 | CKOIBKO y TeOsT HOKEN?

My goodness. You have very many knives! You're
probably a great lover of knives. How many knives do
you have?

[éra |12 | He 3udro. Mosi xxena rotoBut. BoT aBop.

I don’t know. My wife cooks. Here'’s the backyard.

Hpa |13 | Cxombko TATPoB! CKONBKO CIOHOB! CKONBKO | What a large number of tigers! What a large number
14 | momanéit! Ckoibko KOmeK!

of elephants! What a large number of horses! What a
large number of cats!

CiaoBapsb

1 | oM house (Related to domestic. And we saw noma at home previously.)

1 | rocrinas living room (This is an Adjective that acts like a Noun. More on this later)

2 | Boxke moii my goodness (Note that the r in Bor has become k. We saw this same mutation
in MOry > MOKET.)

2 |mHuOro + GEN much, many; a lot (This word can be either an Adverb — to do something a lot — or

a Quantifier — a lot of books, work, etc.)

ckOabK0 + GEN

1. how many (as a question)
2. what a large number of X (as an exclamation)

4 | KaOMHET office

6 | MHOONTENB lover (The suffix -Tean often corresponds to English -er; a person engaged in the
activity expressed by the verb.)

8 | KyxHS kitchen

8 | HOX (end-stressed) knife

12 | iBop” (end-stressed) backyard (This is the closest word Russian has for backyard. JBop normally
means courtyard.)

13 | TATp tiger

13 | cimon” (end-stressed) elephant

14 | HACTOSTIMIA real,; genuine

15 | 300mapK 200
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38.A The Genitive Plural of Nouns: Forms

For some reason, a lot of Russian textbooks treat the Genitive Plural of Nouns as if it were second only to
quantum physics in degree of complexity. It’s just not so.

There are three endings for the Genitive Plural, which are based on the final letter of the Nominative Singular
form of the noun. Note that some Genitive Plural endings are shared by Nouns of more than one gender.

Formation of Genitive Plural Nouns

. | THEN GEN PL GENDER(S) .
IF NOM SG ENDS IN: ENDING IS: INVOLVED® EXAMPLES:
1. Masculines in 1, 3, 4, 111 | HOX > HOXEN
KJIIO4 > KITIO4En
Husher (um, sk, 4, m) or b -ei 2. All soft Masculines , .
Sy CIIOBApPh —> clioBapéi
(except those in -if)
3. Feminines in -b IBepp > IBepéit
1. All hard Masculines THTD > THTPOB
Hard consonant, 1, or & -{O}B v 5 o
2. Masculines in -11 or -ii L ,
réauit = > réHUEB
- 1. All Neuters mecro 2 meer
) 304HUE = 30AHUN
Vowel: NTV) |2. All Feminines ending in | kuira > KHUT
a vowel ¢otorpadus > dotorpaduii

Note the following about the spelling of various Genitive Plural forms:

38.A.1 The spelling of -{O}B after ‘u’ and “ii’
As we would expect, the spelling of {O} after these 2 letters is determined by stress:

After -t Unstressed: -eB: aMepHKAHIIEB
Stressed: -0B: oTHOB

After -it Unstressed: -eB: rénnes

Stressed: -éB: kpaii (edge) = kpaés (We won’t see any nouns like this the entire year,
but the form does show that our rules really do work.)
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38.A.2 Nuking the Vowel for Feminines and Neuters
Recall that there are only two possible vowe! endings for Nouns in the Nominative Singular: -{A} (for Feminine)
and {O} (for Neuter).

Let’s take a closer look at nouns like 3ndnue and poTorpadms using our system of basic sounds. (You haven’t
forgotten about that, have you?) When the vowel is nuked in these nouns, guess what emerges? The it which was
hiding under the guise of a Soft-indicating vowel not immediately preceded by a consonant. The Genitive Plural
is “proof” that it was there all along. See, we weren’t lying to you. This also confirms our rule that ALL. Noun
stems must end in a Consonant. In other words, for all Neuter and Feminine Nouns (in {A}), the Genitive Plural
is the same as the Noun Stem.

NOMINATIVE SINGULAR GENITIVE PLURAL

Basic sounds Actual spelling Basic sounds Actual spelling

sp{AYE" {1}i + {0} 314HKe sp{Avn” {1}t + O 31aHMi

G{OIT{Orp{A}P"{I}it + {A} dbororpadus G{OIT{Orp{A}P"{I}it + O dororpaduii

Finally, let’s take a look at the Genitive Plural of nouns like oxHO0, muceM0, mo0TéHIE, cecTpa, which are all
Nouns whose stems end in more than one consonant, i.e., in a consonant cluster. After you nuke the vowel you’d
be left with ‘oxn’, ‘miaicbm’, ‘mosioTéHI’, ‘cecTp’. Seems like a job for the Cluster Buster.

How do you know which Cluster Buster vowel to insert? We’ll tell you — by including it in parentheses next to
the word.

A good example is kyxns (0). This word nicely illustrates both of the above points. When the ending -{A} is
chopped off, that leaves kyxub, with a nasty cluster at the end (remember that the final 1 is soft and this must be
represented). In comes the Cluster Buster Vowel -0-, and all is well: the Gentive Plural is kyxoHb.

Some nouns with a Cluster Buster in the Genitive Plural

NoMm SG GEN PL
nEByIIKA (€) JEBYILEK
KyxHs (0) KYXOHb

X r
OKHO (0) OKOH

X .
MUCHMO (€) IceM
nmoJIoTéHIIe (e) [IOJIOTEHEL]
cectpa (&) cecTép

In nricem, once the Cluster Buster Vowel e is inserted you no longer need the b to indicate that the ¢ is soft. The
soft-indicating vowel itself does that.

For cectép note that the stress goes back to the end (as opposed to the Nominative Plural céctpsl) and that the
Cluster Buster Vowel is a soft-indicating . Kakoit kommap! Wsunute, panu bora.

So, we now see that there are two forms in which a Cluster Buster can be found. Either: 1) the Masculine
Nominative (and Inanimate Accusative) Singular (Memoxk (0) > MelmK#, MelIKeé, ctc.; oTél (e) > oTua, 0TIk,
etc.) or; 2) the Genitive Plural of Feminine or Neuter Nouns (1éBymka (e) > aéBymek; 0kKHO (0) > OKOH).
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Genitive Plural Nouns: More Examples

Nowm SG GEN PL
NoM SG ENDS IN HUSHER OR -b
e
HOX HOXKEH
Masc in KapaHjam’ KapaHameit
Husher or K04’ KITFOUEH
Soft Con TOBAPHUIIL (comrade) TOBApHILEH
(exc. -if) py6in’ pyo6néit
cJIoBaph’ cioBapéi
. JI0mans JIOIAaIEN
All Fem in MBEIIIIb MBIIIIEH
-b HOYb HOUEH
NOM SG ENDS IN HARD CONSONANT, II, OR |
-{O}B
aIBOKAT aJIBOKATOB
All hard CIIOH’ CIIOHOB
Masc TAJICTYK TAJICTYKOB
¢bmeM ¢rmEMOB
M . oten (e) OTIIOB
ascin -u amepukaner (e) AMCPHUKAHIICB
.. My3&H (museum) My3¢éeB
Masc in -it réHuit réHUEB
NOM SG ENDS IN VOWEL
- (Nuke The Vowel)
MECTO (place) MeCT
oKHO (0) OKOH
ucBMO (€) mAceM
All Neut noJioTéHIIe (e) MIOJIOTEHEI]
304aHUe 3IAHUN
o0mmexnTHe OOIIEKUTHIA
KHHUTa KHHUT
JKEeHA KEH
cocénka (0) COCEI0K
All Fem in néBymika () néByIex
a vowel , ,
KyxHs (0) KYXOHb
¢otorpadus (ororpadmuit
apmus (army) apmuit

384




Grammar Lesson 38
|

Practice forming the Genitive Plural. Just for the heck of it, stick the number ‘5’ in front of the
noun. (We just like the way that sounds.) ***This is another long but important exercise***

Example: xkuura ] name knue

1. xH#Ara 2. TATp 3. HOX 4. akrtpuca

5. KOHBEPT 6. xapaHmam 7. pyoms’ 8. cmoBO

9. xeHa (think!) 10. Bpau 11. agBokaT 12. rénwmit

13. cTynéur 14. muceMo (e) 15. xypuan 16. crynénrka (0)

17. TeneBn3op 18. ko 19. 3n4HMe 20. dotorpadus

21. tpagiuus (tradition) 22. mécTo 23. cnoBapb 24. moxpyra

25. roOka (0) (skirt) 26. M9’ (ball) 27. my3éi 28. QM

29. kpécno (e) (armchair)  30. 3aganue 31. némnap 32. wéwmer (e) (German
male)

? Quesionn  AFlawinthe Analysis?? |

|
|
I think see a problem with your analysis of the Genitive Plural. You say the |
form is based on the Nominative Singular. What about Nouns like gérmu, |
oproxu, and uacer, which are always Plural. How can you predict what the |
Genitive Plural will be these Nouns? !

i Answer: If we didn’t know better, we’d swear you’d taken this course before.

You're right. For Nouns that appear only in the plural, you cannot predict the
Genitive. We will always tell you. Here are three plural-only nouns with the
three different Genitive Plural endings:

JIETH -2 neréit
JIFOIA -2 Ioaén
Oproku >  OpIOK
Yackl -  4acOoB

Even Russian dictionaries for Russians list the Genitive Plural of such Nouns.
There’s just no way to predict these
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38.b

The Genitive Plural of Nouns: Usage

In general, whatever is Genitive in the singular will also be Genitive in the plural:

USES OF GENITIVE

SINGULAR

PLURAL

1. of

OH 11001 TENH ITABA.

He’s a lover of beer.

Onn 1I00ATENN KHHUT.

They are lovers of books.

2. Various prepositions: u3, as, y

OHn u3 Anabamel.
He’s from Alabama.

Ona u3 «IlItaroBy.
She’s from the ‘States’ (USA).

3. Possession

3O10 KHATH TIpodéccopa.

Those are the professor’s books.

310 KHATH NpodeccopoB.

Those are the professors' books.

4. Genitive of negation

V MeHS HET KEHEI.

V Hac HeT neréil.

We don’t have children.

1 don’t have a wife.

38.B  The Genitive With Quantity

MHOro KHUr (5); ckonbko doTorpaduin? (3)

The Genitive Case is used with many words that express quantity. Some “quantity” words are MHOTO (much;
many; a lof), ckbabko (how many?; how much?; what a large amount!), and uet (absence of).

After these “quantity” words both the Genitive Singular and Plural are found:

If the noun is something that you normally cannot count, the Genitive Singular is used. These are known as
13 ,’1
mass nouns” .

Y MeHs MHOTO cOKa. I have a lot of juice.

VY Hac HeT Yasl. We don't have any tea.

Cxo6abko BOTKH! What a large amount of vodka!

Nouns that you can count (called, appropriately enough, “count nouns”) are put in the Genitive Plural:

V HMX MHOTO KHUT. They have a lot of books.

V Hac Her ngerén. We don’t have any children.

Ck0JbKO y Hero kEH? How many wives does he have?

In case you’re wondering why the Genitive is used with quantities, we don’t have a great explanation. But notice
that many quantity words in English require of: a lot of beer/questions. Coincidence??

' Russian is much more restrictive than English about putting mass nouns into the Plural. While in English you can say

thin%s like I had six beers, in Russian you would have to say somethin% like / had six bottles 0: beer ‘Gen ng
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@ Form a question with y Te6s or an exclamation using ckonbko. Remember: don’t put nouns in
the Plural that you can’t count:

Example: mamvina (1) L] Cxénvro mawin!
rancryk (?) [] Ckoavko y mebsi edicmyxos?
1. cnoH (?) 2. amepukanern (!) 3. akrtpwuca (!)
4. x4 (7) 5. doroammapar (!) 6. 3nanue (?7)
rerui (!) 8. otorpadus (?) 9. muceMo (e) (1)
10. muck (1) 11. mMomoko (?) 12. xoémka (1)
13. yaii (?) 14. xapangam () 15. kuura (?)
16. némymka (e) (!) 17. nétu (?) 18. xena (?7)
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Fill in the table. (Be aware of any changes in stress!). Use arrows to save time.

&< Exercise 1

SINGULAR PLURAL
DICTIONARY
FORM
NomMm AcCC GEN NoM/Acc GEN
KJIIo4’

cepéxka (e)
earring

o0LIeXnuTHE

buapm

IBEPH

My3€i
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Lesson 38 — Homework

,@f Exercise 2 Form questions and answers based on the example. (Pick your own nouns, but
make sure you have all three possible Genitive Plural endings.) In your answer
you may choose between having many or none at all.

Example: cars [| —Cxdavko y mebs maunin? — Y mens mno2o/nem HUKaKUx MAuiim.

&< Exercise 3  Toughie: The Genitive Plural of nécHs is néceH. s this exactly what we would
expect? Explain.
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